1. Take the following three row vectors: A = (1, 3), B = (7, 9), C = (7, 2)
1. Find the column vectors V = AT, W = BT, X = CT
2. Create the Matrix D such that A is the first row, B is the second row, and C is the third row
3. Create the Matrix E such that V is the first column, W is the second column, X is the third column
4. Does E = DT?
For Problems 2 through 4 use the following matrices
 

	 
	3
	6
	1

	A=
	17
	4
	-1

	 
	-6
	3
	9

	 
	6
	-7
	2


 

	 
	0
	-2
	10

	B=
	2
	-10
	-7

	 
	12
	14
	3

	 
	4
	7
	-9


 

	 
	6
	3
	7

	C=
	2
	-5
	8

	 
	-4
	0
	12

	 
	-3
	7
	5


 

	 
	5
	3
	0
	4

	X=
	7
	2
	3
	2

	 
	9
	0
	5
	-1


 

	 
	0
	1
	3
	5

	Y=
	4
	2
	1
	1

	 
	-5
	3
	4
	2


 

	 
	-5
	3
	5
	-8

	Z=
	8
	0
	-2
	3

	 
	0
	7
	0
	1


2. Answer the following questions
a. What are the dimensions of Matrix A?
b. What are the dimensions of Matrix Z?
3. Answer the following questions
a. Calculate A + B
b. Calculate X + Z
4. Answer the following questions
a. Calculate C - B
b. Calculate Y - Z
 

For Problem 5 use the following matrices 

	 
	1
	3
	0
	2

	A=
	0
	-5
	7
	4

	 
	0
	0
	2
	1

	 
	0
	0
	0
	-3


 

	 
	1
	-1
	-1
	2

	B =
	-1
	1
	2
	4

	 
	-1
	2
	8
	-2

	 
	2
	4
	-2
	3


.

	 
	1
	0
	0
	0

	C =
	0
	1
	0
	0

	 
	-1
	2
	8
	0

	 
	3
	-1
	-2
	3


 

	 
	3
	-1
	0
	-2

	 
	2
	-4
	-1
	-6

	M=
	-6
	2
	3
	9

	 
	7
	-3
	8
	-7

	 
	5
	5
	2
	7


 

	 
	3
	-1
	0
	 
	-2

	N=
	2
	-4
	-1
	 
	-6

	 
	-6
	2
	3
	 
	9

	 
	7
	-3
	8
	 
	-7


 

5. Answer the following questions
a. Which of the matrices above are square?
b. Do any of the matrices above have upper triangular or lower triangular form?  If yes, which ones?
c. Can Matrix M and Matrix N be added?  Why or why not?
d. Can Matrix M and Matrix NT be added? Why or why not?
e. Are any of the matrices square?  If so, which ones?
f. Are any of the matrices symmetric?  If so, which ones?
